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=LNCA 90.3 JtiEE 71.6 2,160 1,836 1,512 10] vay LL
EWZA T & 18.7 - 96 — 1
IZALA 14.0 JtiEE 13.0 2,160 1,836 1,404 10] vay L
ZIF>5 7.7 "5 & 5.2 3,456 — 3,240 0] A M
[E<E0LY 49.2 E % 48.0 3,780 2516 1,566 15 A 6
HTE 1.3 2 [ 0.8 2,592 2,376 2,160 4f A L
ZEDOH 7.0 ERE 3.6 2,538 2,430 2,160 4f A M
FrRY 73.6 B E 67.0 1,728 1,415 1,296 10] vay 8
FrRy =I5 3.3 1,296 — 1,188 0] A 8
IEF5SNAZES 0.8 N 0.1 — 6,750 — 5] vay L
hE 6.3 JtiEE 35 4,050 3,240 2916 5[ vay LL
“hE 1.0 2 [ 0.3 4860 — 4536 3l A M
125 2.7 =l 1.0 4590 3,240 3,024 5/ A M
L — 0.9 & % 0.9 3,024 1,944 1,944 0] A LL
FARINTGHR 0.9
Hh)257— 0.1
Jowal)— 8.6
LARX 34.0 & % 18.6 1,782 — 1,522 0] A 12
LARX E & 11.6 2,376 2,160 1,728 0] A 12
FoTHA 1.2 BRE 0.5 3,240 3,240 3,024 4f A L
=Y 14.9 E X 10.0 302 216 194 0.8
=p5Y ElG 4.2 3,780 2,376 2,376 51 A M
NESSED 17.9 e 17.9 2,916 2,484 2.160 10 Y1y 6
Y 6.1 B K 5.1 2,484 2,106 2,106 5] A 32
k< 13.5 EES 7.0 3,240 — 2,808 APEY) S
=S 5.0 EES 3.0 4860 4,860 4,536 3 M
F—<y 4.0 x 9 2.1 130 109 108 015 A M
E53ACL
1ZH5Y 1.0 B K 04 3,456 2916 2,268 5 15
SOVAITFA 0.5 BRE 0.5 3,240 - 3,024 2l A
MrAL& 5.8 BRE 4.0 1,404 - 1,296 50 A M
MrAL& BERE 1,404 - 1,188 5/ A S
[EhiLs 459 JtiEE 45.9 2,160 — 2,052 10| Y19 L
[EC YOS JeiEE - 1,836 — 10 Y19 LM
<AL 1.0 ERE 1.0 3,240 2,700 2,376 5 A
ALY 6.0 5 5.5 4,752 — 4536 10 C LL
=Eh&E 169.8 JtiEE 160.6 5,184 4,644 4,320 20 L4'4
ELLV=T 2.2 BERE 0.2 119 - 108 0.1 Vi M
HELLV=IT = 1.2 130 119 97 0.1 A L
ADEET 6.1 £ 5 25 38 - 35 0.1 A
ZDEETF 12 [ 1.0 — 31 — 0.1 A M
LHL 1.7 2 @ 15 97 81 79 0.2
PP iRET 613.7
e
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RN A MAET 11.3
BAEM 11.3 ERE 7.9 - 1,620 - 10] A L
BAR M BERE - 1,944 - 0] A M
BAEM BERE - 1,944 - 10] A S
BAEM B X 3.4 2,268 - 1,944 10 L
BEA B B A 2,376 1,944 1,944 10 M
BEA B B A 2,376 1,944 1,944 10 S
LEY 0.8 F Y 0.3 7,344 7,020 4,860 17 115
INLULT 2.0 = M 2.0 7,020 5,724 3,888 17 88
gLy 0.1 m77Y 0.1 5,400 4752 4752 15 50
YACE 20.2
2h3 10.3 T & 10.3 - 3,888 - 10{ 7hv2 46
2h3 "5 & 4,968 3,888 3,726 10 MA 46
fIE 0.6 £ ¥ 0.6 - 4,320 - 10 Y1y 4
ZTDHMYAZ 9.4 £ ¥ 7.6 6,480 5,400 5,184 10| Mva 32
HARAZLET 16.3
25Kk 7.9 2 @ 7.0 4860 4,536 4,536 10{ <y 28
bl 2.0 = B 1.1 4536 - 4,320 10[ 7h%a 16
ZTDHAEL 6.5 2 @ 29 5,400 4,968 4,968 10{ 74¥2 24
FEELGL 0.1 w2 0.1 - 2,484 - 5 A 18
MEE 12.1
AR ELE 3.3 & [E 3.3 3,024 - 2,808 75 19 L
TRESE 8.1 I 8.0 - 3,132 — 75 36
ZDHHEHMRE 0.7 g @ 0.7 2,160 - 1,836 45| 742 16
SESET 5.1
Big 1.1 £ % 1.1 594 594 540 0.35 vay 40
EFd—x 0.7 @ 0.5 7,344 - 7,020 5( Y3 7
<Y 0.4 = 0.3 648 - 540 1| 7% L
A0t 0.9
7—ILR 0.4 N 0.3 - 2,376 - 5[ a9 4L
ZNhAOY 05 JtiEE 0.1 - 4914 - 8| van 7
INTF 114 EUEY 11.3 5,584 4,104 3,564 15
INAFTIL 28 EYEY 28 3,780 2,916 2916 10
FoA4T7)LY 1.7 ol B 1.7 6,156 4,050 4,050 15
RERE 86.2




